INCH 80A125

ITEM | QTY. DESCRIPTION WEIGHT
1 1 80C201 LADDER GROUP <BALLYMORE) S0 Lbs
2 1 80C204 HANDLE STORAGE GROUP 9 Lbs
3 1 80C216 LADDER STORAGE BOX 141 Lbs
4 8 13107 BOLT - 3/8-16x1-1/4 - Lbs
S 16 33008 WASHER FLAT 3/8 - Lbs
6 8 37024 NUT NYLOK 3/8-16 - Lbs
7 2 80C220 LADDER SUPPORT BRACKET - Lbs
8 4 32417 5/16 x1 SELF THREADING BOLT - Lbs

TOTAL 200 Lbs

— S — T
g — — - | — | — @
26,89 I* : — — — — — — —
w : — — - — — p— —
R S N S N —
T U’ 1 NN L \_\—J .
o I i - I P R 01 ' e
H I M I‘ ‘ ’+ ‘ V’ ’; LH@ jl 74‘ V 7 :“ h@Hj
T -:- U=y P
) I |
| | r ‘
X I K I " v |
T _:_ . H@ N el *—wn@uw t
“\ | ! X 1 | H st N H e |
T e L ! e e I ,
I ﬂﬁ I ﬁ H‘ ‘ I ‘ LJ L L) l LR \J L
——F— St —F—— | '0} - 1] | - - 1] [N ¥
5.11—' : —— — — — | .
T " } ¢ I T —T T\ .
;‘:I::EI'.E-:I-:_ . ] L _J ©
NOTE N
TYP. - 8 PLACES
250 | |
[Fw T rR 1 [CwI R | [WI R 1 [WI_R 1B ITJ
T r W kR W1 R |
— 1l
|\

4225 /
5425

///// /

ALTORFER POWER SYSTEMS
NOTE! DPTIONAL 2ND LADDER v/STORAGE BOX T0 INCLUDE SiEweABERRD.  PHONE (09 g 125

DATE
BY

THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. WITHOUT THE WRITTEN
OF ALTORFER, INC, ANY COPYING OR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBITED|A

PROJECT REFERENCE

DF/80A APS800
TOLERANCES: THI'RD SCALE/SHEET SIZE  [DRAWN BY QUOTE NUMBER

aL omenstons v cres[FILE
INLESS OTHERVISE. SPECIFIED)

CHANGE NOTICE
x
5
L g
2
8

3 + 0.060] PROJECTION 1=15/D D. RICHARDSIN

X0 £ 0.005 _@_ SHEET TATE WORK ORDER NUMBER

wawse + [ = 1OF 1 9/16/05

TITLE APS800 LADDER STORAGE GROUP DRAVING NUMBER
wl[-]¢g FOR USE WITH BALLYMORE LADDER 80C201 g0a125

] I 7 I 6 I L] A 4 I E] I I 1




